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1. IS 9393H T THl 37 U3T J9 Aiad feAeT 8439 480 m? w3 ffa misg gar 15 m 3 w3
fegst fegara gt 20m 31
I8 :

&g AMdY 9g99H € ffa AfEZg sATa =20 m.

" 85 grl AHiZg gam =b

RHT2T gvr=t fegard gat (h) = 15 m.

AHEY 93999 ©F ¥Ide® = 480 m’.

n - 1
HHSY I3dgH T7 4IJde& = 5 x (a+b)xh

L

|
480 = X (20 +b) % 15

480"2
15
b =64-20=44m
fer ®et, AHSY I39gH ©F oHl AHTST 33T =44 .
2. 65 I3 IB9 AFa § YT 396 BEl 750 Ta9 Berger J1 AFF € Uugr d137 439es Us'ad

A9 33 I8 T faWH 84 cm W3 B8 1m J=|
I :

20+D

Il

35 389 = fo " =84 cm
84

7 3% v g fonm = o = 42¢m
33 389 ©F et (h) = Im = 100cm
750 Jaat &9 37 389 <8 Uuar aiSt HEa € 4=Zees = 750 x 380 ©f <50 HgT € 496
=5 = 750 % 2nrh
22
=750 x 2 x —=x 42 X 100

Il

19800000 cm?
19800000
100100

19800000cm? =

= 1980m?
3. fAE3g €t Qo U3~ a3 frarer wad fenw™d 7 cm w3 9% A3 T 9398 968 cm2 IR

IS :
fH839 T I8 AT T U3JSH = 968 cm?
fRE3g T wag fewd =7 cm
A839 T I8 AT T  ¥39eS = 2nr(r + h)

968=2x % X7 (7+h)

968x7
=7+h
2x22x12
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22 = 7+h=h=22-7=15
ﬁ:W;BHETQETE'T: 15 cm@v?ﬁ’
4. &5yt frd 3T <t a9 A3 T 839ew 4224cm? 3| fen § fen< @udl @ 75 &5 dc fawr famrr

3 W3 33 A f&q wirfe3arg e &g ges €37 J| fie T ufay u3T 93|
IS :

83T T 73T € U39S = 4224 cm?

g T WgT x §9TEl =4224 Wriorg € WdT x 33 = 4224 4224 Wrorg € UG 33 wWrord 2 g = 128 cm
Wgrg 2 UgT = Wit ©F S = 128 cm

for S wife3darg Hie e UfgH= 2(1 + b) =2(128+33)=2x 161=322 cm

5. f6 11 cm x 4 cm T wrfe3ard 9| § HF F 4 cm GOl T & fAssa aefonr famr 3| fAgss
T wfe3s U3t 3|
I5

9 ©f se HE39 © warg T UfgHy S 7t I

w3 I 83 & ot 5E Al I

Ho B fAE3I T gy fowd = 1cm

fHE3a < 6o = 4cm Il

839 © word € UfgHY = gad € Wd" = 2t =11

22 7
2x7xr =11 = r=-—ocm

4
frgzg g wfeas V = nrth

= [EX,ZX%X“ cm’® = 38.5 cm’?
6. T'H 15m x10m x7m W'g € WE= Wad IF €l 83 w3 J0 § e ags gger Jl Ue e fea 37
S0 100m2 de I Ager J| de @ fds I JFR J=at 2
I8 : IS T HY: 15m 10m x 7m
fagfa dur w3 &3 e dIzrAer J
for 36t . g% T Ue di3T Ae 7% 93JeS = 4 d07 T H3JeS + 83 © U3JeS
=2(1+b)xh+Ib=2(15+10) x 7 + 15 x 10 = = 500m?

g% AT T ¥3JeH = 500m?
e 2 fig 39 &8 Uc di3™ A'e % 9398 = 100 m?
AR =2=5 A zH I § 91 595 55 5 39 3= I=

100
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7. f6q wEre @ Wigrg © 91T T H'Y 60m x 54cm x 30m I | WA fas We wiarg © 99R dieH feg
ST 913 7" Aa< I6 nad I9d SR € 37" 6cm I=° ?

IS
wWETE T HTESE = (60 x 54 x 30) em® = 97200 e’
WE T E3E = (6 7 6 x 6) em® = 216 em?

weETE T feds 97200
216

BT WE 7 WeTE &9 o A R I8 = =
WE g qTfeds

8. FolY a® f8a egdrarg use J fare vy .
fo3g o f&3 Ifemr 3| Qo use @ Wu i
foa wg w3 wa @ s S f8q gaftor g= g
grger J1 260 Yt TII1 Hica & T3 &% Saitor
HE@T T HIU U3 91
I5

<gdl'd’g Yrgd Eﬂ'gﬂ' =AB =25m

I U'dd €T 93JeS = I x Il = (25 x 25)m? = 625m?

EF =20 m?

WIS BSTE =EF=20m . <
WIS FFH-FG=15m T

WI T H3ISH = | x b = (20 x 15) m? =300 m?

=Y T 43I = TIIMa'd S0 € 93JSS — WJ T 83ISH 25

= (625-300)m? = 325m?
1m? S3TteT Se8€ T HJd = 260

325m? S9TOT S€8€ € HJY = 325 x 60 = X 19500

9. HS wrUE IHT & 1 IS T'ger J1 Add GHR IS T WY 20m x 12m x15m I=2 ¥ 6 It
TI91 HicT €1 ©9 58 297 § 83 & IHI § JuT IITPE T HIT U3 I
I8: IHI S BT = 1=20m, THI T BIE = b=12m
IHI & €98 = h=15m
IHI T I1 S 3 AE T8 93ITH
=4 JO° T 833eSH + 83 T 83IIB

=2(l+b)h + Ixb

=[2(20+12) x 15 + 20 x 12]m?
=[2x 32 x 15 + 240]m?
=[960 + 240]m?2 = 1200m?

1m?8f '3 IJ71 II<QE T UIJ = 36
1200 m? B '3 3971 II<'EE T HITY = 1200 x 6 = 7200 €39
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